This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 3 - Galashiels & District

4,557

4

912

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Michael BANKS	Vanguard Party championing Galashiels	36
James D W CLARK	Scottish Eco-Federalist Party (SEFP)	24
Duck FRATER	Independent	199
Euan JARDINE	Scottish Conservative and Unionist	1,205
Neil MACKINNON	Scottish Green Party	412
Harry Redpath SCOTT	Independent	246
Fay SINCLAIR	Scottish National Party (SNP)	1,637
Hannah STEEL	Scottish Liberal Democrats	483
Bill WHITE	Independent	315
	Total	4,557

Candidate Euan JARDINE Elected with 1,205 votes, being in excess of the quota of 912 Candidate Fay SINCLAIR Elected with 1,637 votes, being in excess of the quota of 912

This report contains the transfers results.

Stage 2 - Surplus of Fay SINCLAIR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael BANKS	17	0.44288	7.52896
Transfer to James D W CLARK	14	0.44288	6.20032
Transfer to Duck FRATER	70	0.44288	31.00160
Transfer to Neil MACKINNON	845	0.44288	374.23360
Transfer to Harry Redpath SCOTT	60	0.44288	26.57280
Transfer to Hannah STEEL	223	0.44288	98.76224
Transfer to Bill WHITE	112	0.44288	49.60256
No further preference	296	0.44288	131.09248
Not transferred due to rounding			0.00544
	Total		725.00000

This report contains the transfers results.

Stage 3 - Surplus of Euan JARDINE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael BANKS	18	0.24315	4.37670
Transfer to James D W CLARK	11	0.24315	2.67465
Transfer to Duck FRATER	94	0.24315	22.85610
Transfer to Neil MACKINNON	43	0.24315	10.45545
Transfer to Harry Redpath SCOTT	173	0.24315	42.06495
Transfer to Hannah STEEL	316	0.24315	76.83540
Transfer to Bill WHITE	211	0.24315	51.30465
No further preference	339	0.24315	82.42785
Not transferred due to rounding			0.00425
	Total		293.00000

This report contains the transfers results.

Stage 4 - Exclusion of James D W CLARK

32.87497

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael BANKS	1	1.00000	1.00000
Transfer to Duck FRATER	4	1.00000	4.00000
Transfer to Neil MACKINNON	11	1.00000	11.00000
Transfer to Harry Redpath SCOTT	3	1.00000	3.00000
Transfer to Hannah STEEL	3	1.00000	3.00000
Transfer to Michael BANKS	1	0.44288	0.44288
Transfer to Duck FRATER	1	0.44288	0.44288
Transfer to Neil MACKINNON	4	0.44288	1.77152
Transfer to Harry Redpath SCOTT	2	0.44288	0.88576
Transfer to Hannah STEEL	1	0.44288	0.44288
Transfer to Michael BANKS	2	0.24315	0.48630
Transfer to Duck FRATER	1	0.24315	0.24315
Transfer to Neil MACKINNON	2	0.24315	0.48630
Transfer to Harry Redpath SCOTT	1	0.24315	0.24315
Transfer to Hannah STEEL	3	0.24315	0.72945
No further preference	2	1.00000	2.00000
No further preference	5	0.44288	2.21440
No further preference	1	0.24315	0.24315
Not transferred due to rounding			0.00000
	Total		32.87497

This report contains the transfers results.

Stage 5 - Exclusion of Michael BANKS

Clago & Exclasion of Michael Briting			10:00 10 1
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Duck FRATER	11	1.00000	11.00000
Transfer to Neil MACKINNON	3	1.00000	3.00000
Transfer to Harry Redpath SCOTT	2	1.00000	2.00000
Transfer to Hannah STEEL	3	1.00000	3.00000
Transfer to Bill WHITE	8	1.00000	8.00000
Transfer to Duck FRATER	4	0.44288	1.77152
Transfer to Neil MACKINNON	3	0.44288	1.32864
Transfer to Hannah STEEL	2	0.44288	0.88576
Transfer to Bill WHITE	5	0.44288	2.21440
Transfer to Duck FRATER	9	0.24315	2.18835
Transfer to Neil MACKINNON	2	0.24315	0.48630
Transfer to Harry Redpath SCOTT	2	0.24315	0.48630
Transfer to Hannah STEEL	2	0.24315	0.48630
Transfer to Bill WHITE	1	0.24315	0.24315
No further preference	10	1.00000	10.00000
No further preference	4	0.44288	1.77152
No further preference	4	0.24315	0.97260
Not transferred due to rounding			0.00000
	Total		49.83484

This report contains the transfers results.

Stage 6 - Exclusion of Duck FRATER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil MACKINNON	27	1.00000	27.00000
Transfer to Harry Redpath SCOTT	63	1.00000	63.00000
Transfer to Hannah STEEL	25	1.00000	25.00000
Transfer to Bill WHITE	68	1.00000	68.00000
Transfer to Neil MACKINNON	28	0.44288	12.40064
Transfer to Harry Redpath SCOTT	16	0.44288	7.08608
Transfer to Hannah STEEL	8	0.44288	3.54304
Transfer to Bill WHITE	11	0.44288	4.87168
Transfer to Neil MACKINNON	7	0.24315	1.70205
Transfer to Harry Redpath SCOTT	30	0.24315	7.29450
Transfer to Hannah STEEL	6	0.24315	1.45890
Transfer to Bill WHITE	39	0.24315	9.48285
No further preference	31	1.00000	31.00000
No further preference	12	0.44288	5.31456
No further preference	22	0.24315	5.34930
Not transferred due to rounding			0.00000
	Total		272.50360

This report contains the transfers results.

Stage 7 - Exclusion of Harry Redpath SCOTT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil MACKINNON	24	1.00000	24.00000
Transfer to Hannah STEEL	61	1.00000	61.00000
Transfer to Bill WHITE	161	1.00000	161.00000
Transfer to Neil MACKINNON	18	0.44288	7.97184
Transfer to Hannah STEEL	16	0.44288	7.08608
Transfer to Bill WHITE	26	0.44288	11.51488
Transfer to Neil MACKINNON	8	0.24315	1.94520
Transfer to Hannah STEEL	50	0.24315	12.15750
Transfer to Bill WHITE	102	0.24315	24.80130
No further preference	68	1.00000	68.00000
No further preference	18	0.44288	7.97184
No further preference	46	0.24315	11.18490
Not transferred due to rounding			0.00000
	Total		398.63354

This report contains the transfers results.

Stage 8 - Exclusion of Bill WHITE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil MACKINNON	74	1.00000	74.00000
Transfer to Hannah STEEL	180	1.00000	180.00000
Transfer to Neil MACKINNON	41	0.44288	18.15808
Transfer to Hannah STEEL	32	0.44288	14.17216
Transfer to Neil MACKINNON	10	0.24315	2.43150
Transfer to Hannah STEEL	99	0.24315	24.07185
No further preference	298	1.00000	298.00000
No further preference	81	0.44288	35.87328
No further preference	245	0.24315	59.57175
Not transferred due to rounding			0.00000
	Total		706.27862